R24
‘£D3
R7 U2 R5 T 3.3V ot
470 * 4 K 100K N
GNDI MMBT3906
: PULSE1
PS2701A-1 —
c7 SR3
R11 3
T vCC GND|—| |—|vcc 100k
100nF oD
u u1B
GND down CLKENB1 5 R24

A Q
CLK1 00 5

|
N
N
el
=

[ee] [o2] E-H [\§)

S
2

17 __ON
19 TIP

R
R1
w——vee R4 03 16 502
21 TP

1
Q P—
CLK1 1| == D4 | 1 PULSE1
Ve gle')f: U3 3.3V DGNDY 3 PULSE2
NC R1B c1 7 | Rext/Cext R8. RO Q2 5 DRI
$10k == 470 * y: K 100K N 7 _DIR2
0.1UF | SN74AHCT221D o~ MMBT3906 ERR2 10 9 ERRL
I
Ve 10k $1.00K OFF 18
23_Ro4
U
GND
2

1
B
GND PULSE2 ENABLE 12 11I__LIDLE
RL
10K TIN 20
TN 22
GND} RGND 24
U1A GND 26 25 RGND

PS2701A-1 | o1 14 1300
|—G down CLKENB2 % > A o) 13
S CLK2 09 18 526 6324

B
2 — |4
sl== 90
CRS vock—3+ TR DB25/female
c2 15| ot
+ Rext/Cext
0.1UF | SN74AHCT221D vin_ Vout 3 vce R34 )
P3 300 1 2 1 |
R2 |vee PN1 connector 1 GND e, MX2 4 : : 3 Mxt 1RCND
10k [ ] 5 c3 2 MX4 6| g ol MX3
Newark D2 0.1uF DS17 MXE 8 [ o ol? MX5
1086044 MXe 10 | o g9 MX7
M2 12 [ o g1l MY1
RI15 . T MY 14 | o o113 MY3
70 DGND MY6 16 | g o] 15 MY5
MYB 18 [ o ol 17 MY 7
DIR1 R24 ENABLE 20 o ol 18
oND—o T RGND down 2 o ol2
S3 S9 2 | o ol 22
L 26 25
GND| o o
R16 R17 09 18 526 6324
o~ R24 - R24 Mx1 R18 A My1 R24 A Mx7 R30
oiRo LbLE 221K DI e 221K DI & 221K D BZS/mal e
GND'—U down GND'—U down
S4 s10 mx2 RI19 2 My2 R25 < Mxs_ Rl
2.21K DS2 2.21K DS8 2.21K
3
R24 00 T1P Mx3 R20 ; d My3 R26 ; d My7 RS2
D down 221K 2.21K 2.21K
S5 G DS3 DS9
R24 o1 TIN Mx4 R21 ; d My4 R27 ; x Mys R33
RGND % o 221K pga 221K psiol 221K
W
R24 w02 T2P mxs  R22 X Mmys R28 X ERRL R35
RCNID dom 2.21K 221K 221K
P BNG DS5 DS11
R24 03 T2N mxe R23 2 mys R29 2 ERR2 RS36
RGND a
G o o 221K pgg 221K pgyo 221K
GND Title
Picomotor Tester 1
Size Number Revision
B D1102226 vl
Date: 3/8/2012 [ Sheetl of 2
File: C:\Users\..\Picomotor_Testerl.SchDoc | Drawn By:  Paul Schwinberg

2 3 4 5 6




1 6
H1 Handle, 3" E1 BNC lock washer PN19 LED Panel Clip PN2 Front Panel
\ \ \ \ \ |
H2 Handle, 3" E2 BNC lock washer PN20 LED Panel Clip D1102279-v1
\ \ | \
Mouser E3 BNC lock washer PN21 LED Panel Clip PN3 Rear Panel
534-9109 \ \ | \ |
H3 Ferrule E4 BNC lock washer PN22 LED Panel Clip D1102280-v1
\ | \ |
H4 Ferrule E13 BNC nut PN23 LED Panel Clip PN6  DB25 cable, M/F
\ | \ | \ |
H5 Ferrule El4 BNC nut PN24 LED Panel Clip Digi-Key
\ | \ \ H7VWH-2506G-ND
H6 Ferrule E15 BNC nut PN25 LED Panel Clip
\ | \ \
Mouser E16 BNC nut PN26 LED Panel Clip PN8 IDC header,26pin
534-9121 \ \ | \ |
M1 #6-32 3/8" flat PN27 LED Panel Clip PN9 IDC header,26pin
\ \ \ |
M2 #6-32 3/8" flat PN28 LED Panel Clip Newark
73K6217
M3 #6-32 3/8" flat PN29 LED Panel Clip
M4 #6-32 3/8" flat PN30 LED Panel Clip
McMaster-Carr PN31 LED Panel Clip
91099A215
PN32 LED Panel Clip
PN33 LED Panel Clip
PN34 LED Panel Clip
PN35 LED Panel Clip
PN37 LED Panel Clip
PN36 LED Panel Clip
Newark
H7 Standoff M-F PN12 Banana jack 90B5681 PN17 Jack screw
|
H8 Standoff M-F Newark PN18 Jack screw
39F1574
H9 Standoff M-F PN13 Banana jack Newark
| 80K5431
H10  Standoff M-F Newark
[ ] 39F1575
H11  Standoff M-F
H12  Standoff M-F
H13  Standoff M-F H19 Standoff F-F M5 M4-8mm, flat M11  M4-8mm, flat
\ | | | |
H14  Standoff M-F H20 Standoff F-F M6 M4-8mm, flat M12  M4-8mm, flat
\ | \ | |
H15  Standoff M-F H21 Standoff F-F M7 M4-8mm, flat M13  M4-8mm, flat
\ | \ | |
H16  Standoff M-F H22 Standoff F-F M8 M4-8mm, flat M14  M4-8mm, flat
\ | | | |
H17  Standoff M-F H23 Standoff F-F M9 M4-8mm, flat M15  M4-8mm, flat
\ | \ \ \
H18  Standoff M-F H24 Standoff F-F M10  M4-8mm, flat M16  M4-8mm, flat
\ | \ | |
Newark Newark McMaster-Carr
56K3066 56K3039 91420A218
Title
Picomotor Tester 2
Size Number Revision
B D1102226 vl
Date: 3/8/2012 [ Sheet2 of 2
File: C:\Users\..\Picomotor_Tester2.SchDoc | Drawn By: Paul Schwinberg

6




